BEFNZEGEE O/REX

BEHEB FHEA RE B EZE2MN-B) i+
< BEXFEICLANEZ >
< BA >
SBIRA 27,000 0 27.000
—BEBRA 27,000 0 27,000
EEREBNERA 1463, 000 0 1463, 000
i B AT 4 4 B 2 IR A 1,463,000 0 1,463,000
ERY— b R— LIS EESEHBEINA 1,463,000 0 1, 463, 000
ZHEERA 1,995, 000 0 1995000
B &2 A 1,995, 000 0 1,995, 000
SN At S —BEZEERA 1,995, 000 0 1,995, 000
ZERA 7,075, 000 0 7,075, 000
FIFIELRA 5,075, 000 0 5, 075, 000
FHERA 500, 000 0 500, 000
MEHBEZSRA 1,500, 000 0 1,500, 000
ZHF BB S & A 2,000 0 2,000
EEZHRAG () 10, 562, 000 0 10, 562, 000
< % >
AEEXH 1.861,000 0 1861, 000
FEHBEREXH 1,855, 000 0 1,855, 000
FFEENB S G 1,430, 000 0 1,430, 000
FEHBEETY 425, 000 0 425, 000
EERFI B 6, 000 0 6, 000
EEEXH 8, 548, 000 64, 500 8. 483, 500
KERBERZ 288, 000 0 288, 000
PRE B X 286, 000 0 286, 000
R B 286, 000 0 286, 000
HESE RS X 85, 000 0 85, 000
IR 372, 000 64, 500 307, 500
EHEX 154, 000 0 154, 000
1S BT X 104, 000 0 104, 000
EBERBEIH 939, 000 0 939, 000
ET s 40, 000 0 40,000
5 & X 5, 000, 000 0 5, 000, 000
MHEZ XN 1,059, 000 0 1,059, 000
EREX N 220, 000 0 220, 000




BB e 1,000 0 1,000
EHEXH 153, 000 0 153, 000
B ARZ H 153, 000 0 153, 000
EXEHHE 2) 10, 562, 000 64, 500 10, 497, 500
EXEHESRZEEQ=D-2 0 -64, 500 64, 500
< BREEECILRE >
< BA >
TR HE AR (@) 0 0 0
< X >
FoRR 2 % % T (0) 0 0 0
BREREASNXERE©)-1)-0) 0 0 0
< XDMDFEHICLIREZ >
< BA >
Z QR OEBIALL (1) 0 0 0
< X >
Z QIR DEBE HET ) 0 0 0
ZOMDEDESNZER 9)=(1)-6) 0 0 0
FBEXH (10 0 0 0
LMASREEEAEH (11)=0)+6)+(©)-(10) 0 ~64, 500 64, 500
BRI ERES (12) 0 1,011, 181 -1, 011, 181
SR ESRES (1D+012) 0 946, 681 -946, 681




